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— « RIEE(60%) : SEETNERS  BHERTABES .
. C++isa(n) __language. a. procedural . functional c. declarative d. object~onentcd

2. A program becomes a 4. job . process c. deadlock d. partition when it is selected by the operating
sysfém and bfooght to the hold state. ' '
3. Whatis 1000001101 in hexadecimal ? a.20D 5.30C ¢.834 4.837
- 4 A stcp-by-stcp solutlon to a problem is called ___ . a. hardware 4. an oPcratmg system c. a computer
o language d analgonthm e. ASCII P -

o momtor _ _
6. A gateway °Pem°5 at ___of the OSI. mﬁdél: a. first layer b. first o I&yersfs-_r:; ﬁrst thl'&e la?m a 733“. o
_laycrs | . e e R |
. vl Web sﬂe addresses are ca]led = a. HTML b. home pagcs c. URLs d. hypcrlmks e TCP!IP
.' 3 __In extcndedASCII oach symbol 15 a.7b.8¢.94d. 10 bits.

il 'What is the domam name: in the cmml address kayla@Plr arc, nasa gov‘? a. kayla b ptt arc nasa gm e

s kayfﬂrt arc.nasa.gov d. nasa govegov
. .f"_":-510 The IP address IS corrcnﬂy bn:s m lengh a. 4 b 8 c 16 d 32 e. 64 f |
o )_,1 . How many symbols can be: ropresonted by 2 bit pattcm thh 10 blts"‘ a. 123 b 256 e 51? d 1924

c TELNET d HTTP e SSL ls a protocol for ﬁlo transfer

. 14 What layor of tho OSI modcl orgamzes blts mto loglcal data uous c_ﬂllecl frams? o physzcal b. data-lmk | g

s nctwork d transport

. '15 What 15 thc mult ofx.99 OR ( NOT x00) mﬂllOOIIO b. 11111111 c. 10611001 d 10101310 (x clenotcs_'--: By

hexadoclmal)

I.. '.;::‘:': i':16 a. An operatmz Systcm b I-Iardwarc c A qucue d’ An @Phcation program e An antl-wmses program Eo

supen 1ses and manoges the aotmty of each component ina computer systern.

o 17 Muluprogram:mng reqmres a_ operanng systcm a. batch b. umc-shmng c iy
| network - i - | - o
1 3 Thc only language understood by computer hardware is a__ Ianguage a. C/CH- b symbclzc €.
| | hxgh-levold naturale machmco | w woed a
19, 15 a basm algonthm that arranges data according to therr values a. Inqulry b Sortmg C. Searchmg- "
' d’ Recursrone Summanon | - e me
' .70 A__is a connecung dewce that segmcnts traﬁic a. repeaxer b lmdge c. routor d gateway

'21 Ina. mgn-and—ma.gmmdc b onc 'S complcment c. two $ complemcnt d a and b nwnbcr rcprcscntauon, o

- there arc: two reprcsentanons for 0.

_22 If the memory address space 15 16MB and the word size 1s 16 b:ts thcn a. 3 g, 16 c 24 d 32 bxts are_ TR

o needed to access each word | ! _
23.A s a connccung devme that segments trafﬁc a. repeater b. bndge c. router d gatoway e NIC

24, Accordmg to the von Noumann model, what are stored n memory" a. only dat& b only progmm c.

data and } program d Tnone of thc above ' A P T o

:'?:: ln von Ncuma.tm modcl thc a U b D'. c m
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calculations and logical operations.
26.In __, only one program can reside in memory for execution. a. mono-programming  b.
mu]ﬁprograxmnmg c. partitioning d. pagmg e. none of thc above |
'27. A standard data type in the C/C++ language 1s not mcludmg a. it b. char c. ﬂaat d array e bath ﬂeat e,
andarray | o o ) | |
| 28 a. FTPb SMTPc 'IELNETa' HTI'Plsaprotocol for mall scmccs - v |
. --79 Randam Access Memory (R.AM) is a lcmd of sterage a. pﬂrmancnt b smart c tempmary d )

;.30 search 1S usually applzcd to an ordered hst a. Sequentlal b Bmary c Bubble a' Insertmn e
Selectmn s | o T |

L. Convert the fallowmg ﬁ‘ﬂ? base ten (declmp]) representatlens to the.zr cquwalent two S camplcmcnt -
ﬁ:mns usmg pattcms ef 8 bn‘s (10%) e | . |

a 25::--_'13_.-: 70 el 40 el

Idcntva the bady of the follumng luop su'ucturc and count thc numbcr af Umes it mll be executed (5%)- B i
What happens if the test is changed to wlule (Count nat 6)‘7 (5%) '  amow o

Count = 1;
- while (Caunt not 7) do{
Pnnt the value ass tgncd to Counter;

Count Coum + 3

" 4. What are the five basic components that make up a computer? (10%)
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